Tutorial Answers
Section 1: Ensuring that Your Answers are "In the Ballpark"

Practice Exercise 1
When you add these numbers together, you get an answer of 112,482 which is greater than 78,257. Choice B is the correct answer.

Practice Exercise 2

When you perform the math for this problem you get an answer of 4,340.1. This number is less than 12,000. Choice A is the answer.

Practice Exercise 3

When you divide 24 by ¾ or .75, you get answer of 32 which is greater than 24. Choice B is the answer.


Section 2: Mathematical Symbols and Their Meanings

Practice Exercise 1

The greater than or equal to symbol means that the value of x can be greater than or equal to the value of y. Choice C is the correct answer.

Practice Exercise 2
To calculate the correct answer, you need to multiply 10 times 13. Choice B is the correct answer.
Practice Exercise 3

The answer to the factorial of 4 is 24. Choice D is the correct answer.


Section 3: Rules for Rounding

Practice Exercise 1

Rounding 53.55 to the nearest whole number gives you an answer of 54. Choice B is the correct answer.
Practice Exercise 2
Rounding 53.55 to the nearest tenth gives you an answer of 53.6. Choice C is the correct answer.
Practice Exercise 3
Rounding 53.446 to the nearest whole number gives you an answer of 53. Choice D is the correct answer.
Practice Exercise 4

Rounding 654.9 to the nearest ten gives you an answer of 650. Choice A is the correct answer.
Practice Exercise 5

Rounding 654.9 to the nearest hundred gives you an answer of 700. Choice C is the correct answer.
Practice Exercise 6

Rounding 44,757.0088 to the nearest thousand gives you an answer of 45,000. Choice B is the correct answer.
Practice Exercise 7
Rounding 44,757.0088 to the nearest thousandth gives you an answer of 44,757.009. Choice C is the correct answer.

Section 4: Keeping Track of Decimal Places

Practice Exercise 1

Subtracting 2.6678 from 56.57 gives you an answer of 53.9022. Choice C is the correct answer. To obtain this answer, perform the following calculation:
	56.5700
- 2.6678
53.9022 


Practice Exercise 2

Multiplying 2.667 by 56.57 gives you answer of 150.87219. Choice A is the correct answer. To obtain this answer, perform the following calculation:
	56.57
x 2.667
39599
339420
3394200
+ 11314000
150.87219


Practice Exercise 3
When you divide .266 by 56.4186, you get an answer of 212.1. Choice C is the correct answer. To obtain this answer, perform the following steps:
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Section 5: Converting Fractions, Decimals, and Percents

Practice Exercise 1

When 62 over 553 is converted to a decimal, you get an answer of 0.1121157. When this number is rounded to two decimal places, the answer is .11. Choice B is the correct answer. To obtain this answer, perform the following steps: 
Step 1. 553 ÷ 62 = 0.1121157
Step 2. Rounded to 2 decimal places, 0.112157 = .11 
Practice Exercise 2

When you convert 7.15 to a fraction and reduce it to its lowest terms, you get an answer of 7 3/20. Choice A is the correct answer. To obtain this answer, perform the following steps:

	Step 1. .15 is 15 hundredths. Converted to a fraction 7.15 is
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Step 2. Divide this fraction by 5 to reduce it to its lowest terms. The 

	answer is:
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Practice Exercise 3
When you convert .715 to a percent, you get 71.5%. Choice D is the correct answer. To get this answer, you move the decimal point in the number .715 two places to the right.

Practice Exercise 4

When you convert 2.36% to a decimal, you get .0236. Choice C is the correct answer. To get this answer, you move the decimal point in the percentage 2.36% two places to the left.
Section 6: Working with Ratios

Practice Exercise 1
To determine the ratio for this fraction, first reduce it to its lowest terms. Then separate the numerator from the denominator with a colon. The ratio for this fraction is 1:7. Choice A is the correct answer.

Practice Exercise 2

To determine the ratio for this problem, express the numbers as a fraction and reduce fraction to its lowest terms. Then, separate the numerator from the denominator with a colon to get the answer 2:3. Choice C is the correct answer. To obtain this answer, perform the following steps: 

	Step 1. First express the numbers as a fraction: 
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	Step 2. Reduce the fraction to its lowest terms:
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Step 3. Separate the numerator from the denominator with a colon 2:3. 
Practice Exercise 3
The Item Manager should have a buy quantity of 360 if 480 demands were submitted. Choice A is the correct answer. To obtain this answer, perform the following steps: 
Step 1. The standard is 3 buys to 4 demands.
Step 2. 480 demands ÷ 4 demands = 120
Step 3. 120 · 3 = 360

Section 7: Calculating Averages

Practice Exercise 1

To determine the ratio for this fraction, first reduce it to its lowest terms. The average for this set of numbers is 72.2. Choice D is the correct answer. To obtain this answer, perform the following steps: 

	Step 1. Add the numbers together.
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	Step 2. Determine how many numbers are in the set. Divide that number by the total from Step 1. 
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Practice Exercise 2

The average for the data in this table is 9.34. Choice B is the correct answer. To obtain this answer, perform the following steps:
	Step 1.
	Add the total of all the numbers in all the sets:

	 
	716 + 1,079 + 891 + 918 = 3,604
96 + 118 + 88 + 84 = 386 

	Step 2.
	Divide the total by the frequency to obtain the average: 

	 
	3,604 ÷ 386 = 9.336

	Step 3.
	Round to the nearest hundredths. The answer is 9.34.


Section 8: Percent Increases and Decreases

Practice Exercise 1

The percent increase for this problem is 427.8 or 428. Choice B is the correct answer. To obtain this answer, perform the following steps: 

Step 1. 15% = .15
Step 2. 1 + .15 = 1.15
Step 3. 1.15 · 372 = 427.8

Practice Exercise 2

The percent decrease for this problem is 316.2 or 316. Choice A is the correct answer. To obtain this answer, perform the following steps: 

Step 1. 15% = .15
Step 2. 1 - .15 = .85
Step 3. .85 · 372 = 316.2

Practice Exercise 3

There is a 50% increase. Choice B is the correct answer. To determine the percent change for this problem, perform the these steps: 

Step 1. 105 - 70 = 35
Step 2. 35 ÷ 70 = 0.5
Step 3. 0.5 · 100 = 50

Practice Exercise 4

There is a 20% decrease. Choice D is the correct answer. To determine the percent change for this problem, perform the these steps: 

Step 1. 120 - 150 = -30
Step 2. -30 ÷ 150 = -0.2
Step 3. -0.2 · 100 = -20

Practice Exercise 5
The probability has decreased by 20 percentage points. Choice C is the correct answer. To determine percentage point changes, subtract the initial percentage from the final percentage. 

20 - 40 = -20

Section 9: Adding, Subtracting, Multiplying, and Dividing Numbers with Signs

Practice Exercise 1

The answer to this problem is +89. Choice D is the correct answer. To obtain this answer, perform the following steps: 

Step 1. 18 + 92 + 100 = 210
Step 2. 34 + 53 + 32 + 2 = 121
Step 3. The total of negative numbers is -121
Step 4. The difference between 210 and 121 is 89
Step 5. Since 210 is larger than 121, and 210 is positive, the answer is +89. 

Practice Exercise 2

The answer to this problem is - 20. Choice C is the correct answer. To obtain this answer, perform the following steps: 

Step 1. Change the sign of -181 to +181 and add -201 and +181.
Step 2. Since the numbers have different signs, subtract the smaller from the larger.
Step 3. Since 201 is greater than 181, the sign will be negative: -201 + 181 = -20 

Practice Exercise 3

. The answer to this problem is -256. Since the numbers have different signs, the answer must be negative. 

+16 · -16 = -256

Choice A is the correct answer

Practice Exercise 4

The answer to this problem is +10. Since both numbers have the same signs, the answer must be positive. 

-420 ÷ -42 = 10

Choice C is the correct answer.

Section 10: Working with Exponents

Practice Exercise 1

The answer to this problem is 32. Choice A is the correct answer. To obtain this answer, perform the following calculation: 

2 · 2 · 2 · 2 · 2 = 32

Practice Exercise 2

The answer is 512. Choice C is the correct answer. To obtain this answer, perform the following calculation:

8 · 8 · 8 = 512

Practice Exercise 3

The answer to this problem is[image: image9.png]


.

Choice D is the correct answer. To obtain this answer, perform the following calculation:
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Practice Exercise 4

The answer to this problem is 9. Choice A is the correct answer. To obtain this answer, perform the following calculation:
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Section 11: Order of Operations

Practice Exercise 1

The answer to this problem is 20. Choice A is the correct answer. Using the standard order of operations, this problem is solved by performing the following steps:
	 
	75 - 2 [image: image12.png](32-4)2



- 25 ÷ 5

	Step 1.
	75 - 2 [image: image13.png](9.4)%



- 25 ÷ 5

	Step 2.
	75 - 2 · [image: image14.png]


- 25 ÷ 5

	Step 3.
	75 - 2 · 25 - 25 ÷ 5 

	Step 4.
	75 - 50 - 25 ÷ 5

	Step 5.
	75 - 50 - 5

	Step 6.
	25 - 5

	 
	The answer is 20


Practice Exercise 2
The answer to this problem is 0. Choice B is the correct answer. Using the standard order of operations, this problem is solved by performing the following steps:
	 
	240 ÷ 6 · 2 [image: image15.png](35-52)



- 4 ÷ 2

	Step 1.
	240 ÷ 6 · 2 (35 - 25) - 4 ÷ 2

	Step 2.
	240 ÷ 6 · 2 · 10 - 4 ÷ 2

	Step 3.
	240 ÷ 120 - 4 ÷ 2 

	Step 4.
	2 - 2

	 
	The answer is 0


Section 12: Solving Formulas

Practice Exercise 1

In this problem, a = 17. Choice B is the correct answer. To obtain this answer, perform the following steps:
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	Step 1.
	a = 
[image: image17.png]
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	Step 2.
	a = 
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· 2 + 16


	Step 3.
	a = 1 + 16 

	Step 4.
	a = 17


Practice Exercise 2

H = 5. Choice D is the correct answer. To obtain this answer, perform the following steps:
	 
	V = L · W · H

	Step 1.
	105 = 3 · 7 · H

	Step 2.
	105 = 21 · H

	Step 3.
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	Step 4.
	5 = H


Practice Exercise 3
W = 3. Choice D is the correct answer. To obtain this answer, perform the following steps:
	 
	P = 2L + 2W

	Step 1.
	10 = 2 · 2 + 2W

	Step 2.
	10 = 4 + 2W

	Step 3.
	10 - 4 = 4 - 4 + 2W 

	Step 4.
	6 = 2W

	Step 5.
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	Step 6.
	3 = W


Section 13: Keeping Track of Units of Measure

Practice Exercise 1

The correct way to represent 28 mpg is with the following fraction[image: image22.png]2gmiles
s



.

Choice A is the correct answer.

Practice Exercise 2

A car that gets 35 mpg can travel 700 miles on 20 gallons of gasoline. Choice C is the correct answer. To obtain this answer, perform the following steps:
	Step 1.
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	Step 2.
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	Step 3.
	20 · 35 miles = 700 miles


Practice Exercise 3
Using the conversion methods explained in this section, you were able to determine that there are 2 yards in 72 inches. Choice D is the correct answer. To obtain this answer, perform the following steps:
	Step 1.
	The conversion factor will be 
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	Step 2.
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	Step 3.
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	Step 4.
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Section 14: Adding and Subtracting "Apples and Oranges"

Practice Exercise 1

Using yards as the measurement, the total amount of tape for the three offices in 75 yards. Choice B is the correct answer. The table below illustrates how to perform the math for this problem.
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Practice Exercise 2

The single measurement for this problem is "pieces of furniture." There are 18 pieces of furniture that need to be moved. Choice A is the correct answer. To express these items as a single measurement, perform the following steps
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Section 15: Some Key Statistical Terms and Their Meanings

Practice Exercise 1

The range of ages in the office is 25 to 53. Choice D is the correct answer.

Practice Exercise 2

The mean age in the office is 41. Choice A is the correct answer. To obtain this answer, perform the following steps: 

Step 1. 53 + 50 + 45 + 45 + 40 + 37 + 37 + 37 + 25 = 369

Step 2. There are 9 values in this set.

Step 3. 369 ÷ 9 = 41

Practice Exercise 3

The median age in the office is 40. Choice A is the correct answer. To obtain this answer, perform the following steps: 

	Step 1.
	List data elements from highest to lowest: 53, 50, 45, 45, 40, 37, 37, 37, 25

	Step 2.
	There are nine numbers in this set. The number in the middle of nine is five. Count five numbers from the left or right to obtain the median.


Practice Exercise 4

Since the age of 37 occurs more than any other age in this set, the mode of the ages in the office is 37. Choice C is the correct answer. To obtain this answer, perform the following steps: 

	Step 1.
	List data elements from highest to lowest: 53, 50, 45, 45, 40, 37, 37, 37, 25

	Step 2.
	The age of 37 occurs the most times so it is the mode.


Practice Exercise 5

Two-thirds of the employees are between ages 57 and 33. Choice B is the correct answer. To obtain this answer, perform the following calculations: 

	Step 1.
	45 + 12 = 57

	Step 2.
	45 - 12 = 33


Practice Exercise 6

The median waist size in the office is 37. Choice D is the correct answer. To obtain this answer, perform the following steps: 

	Step 1.
	List data elements from highest to lowest: 46, 42, 42, 40, 38, 38, 38, 36, 34, 34, 34, 32, 30, 30 

	Step 2.
	There are 14 numbers in this set. The two numbers in the middle of the set are 38 and 36. To determine the median, perform the following calculation: (38 + 36) ÷ 2 = 74 ÷ 2 = 37 .


Practice Exercise 7

This data set is bi-modal. The waist sizes of 38 and 34 are the most frequent, and they both occur the same amount of times. Choice A is the correct answer. To obtain this answer, perform the following steps: 

	Step 1.
	List data elements from highest to lowest: 46, 42, 42, 40, 38, 38, 38, 36, 34, 34, 34, 32, 30, 30 

	Step 2.
	This data set is bi-modal. The waist sizes of 38 and 34 are the most frequent and they both occur the same amount of times.


Section 16: How to Convert English Phrases Into Mathematical Statements

Practice Exercise 1
The mathematical statement for this problem is j = p - 3. Choice A is the correct answer.

Practice Exercise 2

The mathematical statement for this problem is a = 4 x b. Choice C is the correct answer.


Practice Exercise 3

The mathematical statement for this problem is a + b + c = 2d - 3. Choice B is the correct answer.
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